Determine the next four terms of the given sequence:

a) 4,9,5,10, , , ,
b) 2,7, 12,17, , , ,
c) 4,-5,6,-7, : , :
d) 1,9,0,10, , , ,
e) 3,9,27,81, : : :
f) 8,12, 16, 20, : : ,
g 1,-1,1,-1, : , :
h) -7,-11,-15,-19, | , :

1) x, 2x, 4x, 8x, , , ,

D (x=2), (x+3), (x+8), (x+13), ,

2 4 6 8
k)xa-xaxaxa ] s 5

) (2x-1), 2x+3), (2x-95), (2x+06), ,

m) 7,4, 1, -2, , : ,

n) 5,25, 125, 625, , : ,
0) 2,-6,12,-24, , : ,
p) 21,17, 13,9, , : ,

qQ 3x, —6x°, 12x°, —24x*, , ,

r) 32x, 34x’ 36x’ 38)6’

b b b

s) (x+1), Bx+4), (6x+7), (9x+10), ,

7, 27 +2, —J7+4, —47 +6, :

9 9 —7 7
w -9, /5 25> /125’ ’ ’

V) 47 37 y’ 2%6’ b b b
w) V81,3/121,4/49 4169 , , , :

x) (2x+1), Bx-7), (8x—15), (13x—-23), ,




